Choose the right description that best captures

5 the meaning of the word, MARGINALIA -
(1)  notes written in the margins of a book or
v documents you have read
(2)« people who have had an experience of

border countries and terri tories

(3  marked with pencil and drawn on the
roofs of public buildings
(4) membersofa group who do not actually

fight but observe com bat from outside

2. Choose the one meaning which hest expresses

the idiom, Hobson's choice .
(1)  asituationin which you have aJ] choice
but if you accept the choice you forfeit
the right to choice again
a choice where your fortunes have already
been decided before yYou exercise the
choice
a choice which is a win-win situation for
parties involved in unlike business
a situation in which you have no choice
because if you don't accept what is given,
you get nothing at all

@)

Gy
@

3. Improve the underlined phrase in the following
sentence with the help of given options :
Applications for this position should be filed by

next Saturday latest .

(1)  latest by Saturday next
v(2) next Saturday at the latest

(3)  next Saturday latest

(4% latest next Saturday

4. Improve the underlined phrase in t.I:le following
sentence with the help of given options :
Raju seemed to be living at some remove from

reality.
‘/{1) in aremove
(2)« atone rgmove
6) at certain remove
(4  from some remove

5 Identify the part of the following sentence that
: has/may have an error.
Roses grow with abundance against thig

(2)

< (1) _
old wall in this season

@

(4)

5

10.

PART -1/9mr.
(1) General English / wrarey 3

6.

Choose the word/phrase that gives the best
Mmeaning of the word underlined in this
sentence : b
Your findings are original but you haven't
familiarized yourself with the nomenclature
of the specimens.

uses of

value of

system of naming thi ngs

system of classifying things

o
@
(26))
)

Choose the word most nearly OPPOSITE in
meaning to the given word : DILATE

(1)  contract £) expand

(3)  shrink (4)  abduct

Complete the following sentence by.using the
correct form of the verb. Use the options given
below :

She was too nervous to speak before such a large
audience and
(1)  will be prompted
()  hasto be prompted
(3%  had to be prompted

9  wasprompted

Choose the description that best captures the
meaning of the word [N CORRIGIBLE :

(1) Jhaving resilience and tenacity not
usually found in otherg
@

displaying signs of fatigue and infection
3)

in the body

having haq habits that cannot he
changed or Improved

showing extreme resistance to certain
types of food :

)y

Complete the followi
' correct form of the

given below -

I didn't bring my wallet. Sin

to lunch [ guessed you :
w0 wil have some money on youy

V12 i:xllx_ight have hag Some money on you

might given Some money
‘had givgp'-some money
G 38 N

ng sentence by using the
verb. Use the options

Ce you invited me

Wk T h
O MGRACH

18A309
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PART -1/9m .1
(2) General Hindi / wmar fg=h

iy

1L T & wn? et am ow @ gw | 16 g A e wwmn S anen wiian meann
L ¥
fts v % foru swgea ey @m
A ; (1) (2) Iy ;
@ {3 sEe w @)  IA @) gy |
3). TER HI SRR
4) =AY g 17. ‘e’ w1 wfew af el
12. ‘S W gay o e A E 2 1y T @, W
O ™ afygumg @ a9 @ fawar
2  YHATT GE FEem
© FI AR 18, ‘‘2fa gan wrdtg d A sftar st asetarh
@, AT Ao wfeum gy #'
“ . Irfa A & ‘IR @l fey faeey F ad
13. ﬁa_r__%mﬂmrﬂﬁmm S R T 47
fiam Tom & e SugeR wse B (1) St
M uH 2 W @ o
@ fSEmE @ wa @ v An
14, EEw R ¥ w9 H 6w B @ A v E A
FIIIH §7
@) ErAna 19, 319 =T T ATl Werd Uil e ¥
@ =i 1 aE @ W
o 3t 4 =
@), forererm (3)- @
P ! <hl AH T ] :
15, T fie feA oy T 00, e 3¢l 1 TR Srfien W 7 A febhg SR dEE
o el 219 s T SR - N
@ fag=sw :
C2ER|
@  HEEA (1, ST e @
(4 (3 e @ W
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21.

22,

23.

24.

~ Wh
Al

Where among the following has the world’s
largest solar park recently been inaugurated ?

) (2 Delhi
(3) (4) Karnataka

Chennai
Mumbai

The introduction of economic and political
reform policies of Perestroika is associated with
which of the following political leader ?

(1)  Mikhail Gorbachev
(2)  Bons Yeltsin

(3)  Vladimir Putin

(4)  Nikita Khrushchev

Which of the following statements is not true,
regarding the ‘Brown Agenda’ ?

(1)  Brown agenda deals with local issues of
the urban poor and the disadvantaged

Brown agenda deals with environmental
issues, associated with urban and
industrial areas

Brown agenda deals with issues such as
pollution, waste disposal and the
provision of safe drinking water and
affordable housing

2

3)

(4)  The emphasis of Brown Agenda is on

Inter-generational equity

One of the following is true about the Harappan ik
script

(D It is written from left to right like the
Devanagari,

@) Itisan alphabetic script.
3 Itisa pictographic script.
@ Itis comparable to the Roman script

moved the Objectiveg Resolution which
_ Qmstituant Assembly 7

10
; ted the aims of the

21.

22,

23.

PART -II / ®m1- 11 _
(1) Gen. Knowledge And Current Affairs / 9= 31 & HaAHiaF oo

freferfiaa & & fpg o W wE @ § faeE &
T S Hien W 1 FeEIeA N T 7

VS " ﬁr"'ﬁ‘

@ % @ /
e 1 siefas e TATTS QAT Al
s Freiferfaa 7 @ R TeEifass T & e
Jo1E? .

(1 e e

(2) afrg AfeeaA

3)v A i

@ fafEa gvaa

g e & A A refataa 3 8 B sy
e TH &2 ' '
i afadl § JE1 81

2
&3 1 qAE T A T
(3 'mqﬁm'wwxm,mnﬁmm
YIS 995 YO 3 aars ST St
I | 3
@ 'W@m'ﬁ:mﬁrmwaﬁma
TR
;ﬁﬁﬁ%ﬁwﬂmﬁaﬁﬁﬁwaﬁ
M mﬂﬁﬁ“ﬁwaﬁﬁmﬁﬁnfﬁ@
|
2 qﬁmﬂmﬁﬁ]%|
=7 %ﬁaﬁzgm%,
2 %Wﬁ"ﬁmﬂﬁ%%t
HEur e &
m_(m@wmm.mm
R IR fort g
@ sty ' :
& Fow
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28.

29.

~slikely to dey

Which
UCh one .
of t:;enfo_limvmg settlement pattern
P In plain fert;le agricultural

(1) Circular

@ Rectangular

(3) . Star-shaped )
@ Linear

In “.fhich Population
species benefit 2

interactions both the
(1) Mutualiem

(2  Competition

(3)  Commensalism

(4)  Amensalism

W’l}o won the silver medal in badminton in the
Asian Games, 2018 ?

(1)  Syed Modi

(2) P.V. Sindhu

(3)  Taipeis Tai Tzuying
(4) Saina Nehwal

When did sustainable development goals come
into effect ?

(1)  July 2016
(2) January 2015
3  July 2015

(4  January 2016

Who among the following recently won the
gpecial Golden Man Booker Prize, which marks
the 50th anniversary of the prestigious award,

Man Booker Prize 7
(1)  Kiran Desai
(2)  V.8.Naipaul

Fe 0@ Salman Rushdie
@ Michael Ondaatje

27.

28.

29.

30.

ﬁmﬁf@ﬂﬁﬁaﬁq—maﬁﬁﬁaﬁmﬁm:” i
Fia-9= & w0 A fasfua & wea d? i

(n - FEEER
2L HAFEEHER
@  TRIEA
@) @R

foper el W st § 2 @ werh
aﬁrr_wﬁm%?

(1) + TS

@  HIOEENH

(3)  HEgfeH

@)  eTafesH

2018 ¥ Uy @el # WefHed &1 W9 w©F
freferfaa & | forga star?

1 HI AR

@ e foy

(3)- TTEUE TE ET

@) I A

RO (TRATE ) Taehm weg S yuE § &1 ?

(e TS 2016

@) SEEd 2015
3) T8 2015
4) S 2016

fr=fafea @ | fras @ § gfafed 9w
‘A9 gt UrES’ w1 501 Wt % ITEed |
fafyre e 9 g west' sian?

(1) T g

(2)  d.uH. A

(3) » TAHM T

@ HR st

Scanned by CamScanner



3L

32.

33.

In family of six, there are three men X, Y and Z
and three women A, B and C. The family has
an Architect, a Lawyer, a Professor, a Chartered
Accountant, a Doctor and an Engineer. The
desceription of family is given below :

There are two married couples and two
unmarried persons

The doctor is married to Lawyer

: X is married to the CA

. A’s father is a Professor

X The Lawyer 1s C's daughter-in-law

. Zisnot A's husband
Y is not X’s son, nor is he an Architect or

Professor
Who is the Architect ?
e @ A
® B @ X

Choose out the odd one :
Tricycle, Trident, Trifle, Tricolour
(1)  Tricolour (2) Tnfle
(3)  Trident @)  Tneycle

Count the number of rectangles of any size
embedded in the given figure and select the right
answer from the given options.

(2 21
@ 36

31.

32.

33.

PART - II / 91 - 11
(2) Reasoning Ability / ftfehen Fraar

qee  ford A A g XY

fert gfRaR o &%
amzazn?ﬁwﬁaﬁA,Bamc%:Wﬂﬁaﬂﬂ
T, T e e T AT § A
U TH YR ® -
; wmﬁawmmamﬁaaﬁ
gl
. te o faaTe FEIE @ g
f xmﬁmﬁaﬁét{mﬂwﬁg\aﬂ%l
. A I AR
. e, C B gAY
7. A @1 ufd & ¢

Y, X 1 g Tl &1 T8 SEIHER A T
ot 78 2 |

FRGHR HI € ?

@) @ A

@ B @ X
fasm =1 g4 ¢

foafean, forere, S¥E1-Ht @, fodm

@ fadm (A i B
3 frE @  faufen

fei o g o fafea ferdt off amepr el @l =6

e wared 99 fed T fasey @ wd I A
g |

(1 48 (AT
& 27 @ 36

Sl i.smcEFOR ROUGH WORK / T% & & fere wrmig

18A309
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| What was his final direction ?©

85,

o

.('2) . North-West
(3 West 4)  South-West

- Select the correct alternative from the given
ones that will complete the number series.

7.14, 42, LG%. 2

<90

(1), 504 2y 672

@ 1008 @ 840

Complete the following figure matrix by
selecting the right figure from the given options.

AlE

3

‘ [g oD

\/ @

e

X

man stands facing West, He turns 135% | 84, o saf offem 4 ol o wek wg y emudt
ockwise and then he turned 180 |
. anticlockwise. Then, he turned 45° clockwise. |

35.

36.

W qpo° qEar #1 fer aw wE w5 faan A

a1 ferwn W 136° Wam # aesr ) # favita foo
457 e ¥ 1 ueA! s faom w27

( = @  Fm-ufyay
@  dfem @) afam-afyay

frefefaa o A we famen H1 9f3 o0 de 200
ﬁwmmﬁr

7, 14, 42, 168, __ 2

(1) 504 2 672

@ 1008 @ 840

#3 faa T faseu @ TE om0 =1 97a gu =
ﬁamaﬁ@aﬂﬁﬂ

AT

=

= AcEFORR()UGHwoRKIWﬂ'&:mW
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37. ¢ SUPREME is coded as DLDSRTO, How 87, R SUPREME DLDBRTO ¥ 4 -
Would BROUGHT be coded R S0, 1 BROUGHT ) fig o ¥ T
®  SGFVOAN @  SGFVAQN () H(ilﬂ*:’\’/\te @ Som 9
38, Ina row of children, Bhavana is ninth from 4 s .
the left and Ashu is thirteenth from the vight, | 88, v #) faged) Tﬁ’a q bk kL T 7 0,
they exchange their positions and then Bh:-wmm SR S A Qe wry ¢ A YT 391 M
becomes seventeenth from the IL‘I?- F&’“}:ﬂ:‘: &, s g LRIET A 9 Tﬁ g
new position of Ashu from the right end of the 5 R LY HE )
50 v i & wfet w4y o T T 3 4
@) 23 @ 20t Po - iaa @ 209
@ 21 @ 22 @ 219 @) gz
39.  Select the correct option which is related to tl?e 39, 39 'Hﬁ lﬁﬁﬂ.‘q.aﬂ AT Fifor W et ™ A =
third term in the same way as second term is I Haifig § forg I g e g mﬁ‘
related to the first. ¥ 4 9T 1wl
NQSW :MPRV :: CFHL: ? I@‘S‘W : MPRV - . CFHL . »
()  BEGK (2) DEGJ ) BEGK @ DEGJ
@) EBGM 4 BFIN (3 EBGM 4)  BFIN
40.  Five friends A, B, C, D and E are sittingona | 40 8 d@ walafima g ¢ p sip T YEN
bench in such a way that : 43 € fi .
(@  Cissitting toimmediate left of A. @ C A% Frean o a2y T CANL
()  Bissitting to the right of A and D. b B, A3RD ¥ ed o .
(©  Eissitting to the left of C and A, (© E CA9A & a3 3212y o
Who is sitting in the middle ? a4 B a2 ﬂ 8 D
M D @ A O D A CEA
sl B @ c @ B @ C
Y-8 SPACE FOR ROUGH WORK / v a7 & for w1 s 18A309
{é 216l & I!’ L F
L1y rn SBPRERE
o AR 3 y I Ml (9 18 pE
X S T-’ U v w
AgcOFe GHISKLMNOP&RS G o
XYWV T eR g po ) HLKN
/ B,
J 7
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j PART - II 7 9t - 11
3) Computer Literacy / S¥ET AI&TET

41. Speed of internet connection is Measured in | 41 F2OR SIRE 5 0E o, Ry
: 1) ; o R
0. fn @  Ghps 23} iy ‘:" Ghps
: )
[
42. WAE TGS W 9 F 9694 W 60 dse §
42. The top most row of keyvs on the standard L] IS BT € 99 FIEE I TER
keyboard contains =0 hove: and tha e ¥

longest key on the keyboard is 34
1) e, O

D HEYH, WY SR
@) TEEEH, |WE AW

@ He g st

(1)  function, enter key
(2)  function, space bar
(3  alphabetic, space bar

4  number, enter key

43. THUF FHIR:

43. FAQ stands for: g . .
) Fafe v AuE ||vEy

(1)  Favourite and Answered Questions @' oo ST v
::; ::I‘equentiy in:w(:gd Questions O Bt = TS
requently Asked Questions 2
(@ Wafe sree F[|yEd

(4  Favourite Asked Questions

44. CFHeYH o weet W

44, File with ___ extension stores EREmAqM_ CEEw Al e
andfilewith ___ extension i R e §1
gthren. LT
@  jpeg, o, = mp8

(1) jpeg, image, sound, mp3
42 bmp, &, mp3, T

(20 bmp, sound, mp3, song

(3 bmp, sound, mp3, image (3  bmp, W&, mp3, &3

(4)  bmp, image, mp3, sound ()  bmp, fam, mp3, ﬁﬁ

_ ; 45, frofeafea 3 | o9 @ o @ e S st
45.  Which of the following actions will not delete a - 2

file on Windows desktop ? |
1) RE W su fraw w, fedlie '# aE

(1)  double click on file, hit delete key .
@ ¥ aun dungfee fam A g

(@ dragand dropinrecycle bin
o wRe — W few - fede

(@  select file— right click— delete 3) it
(4  selectfile, hit delete key (4) fgdee wIgd — Del CIY
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46,

Computers which offer information are called | 46, = HFT 92 FIR A IR s TR
o pe j:id thoep.whrch geek information : A HEA A A "T”i'" SR S
(1) Applications, complex softwares (;; AT, Fieern Hiezaay e - ¥
.(2) System software, application software (2 fowm gedm, vEEeA B
(3  Servers, clients (38 |, FTE
(4 Clients, servers (4) FEMEZ, WAL

47. Emailaddresaesin___ﬁ______ﬁeldareviaible 47, _Fres d 97 uH i Irasa

to all recipients. Email addresses in Eal gafvh m i ! 1:5:-;:7 # -5 vy
field are visible to only the recipient. Faw arAFA F yefEaa 21
(1)  Toand Cc, Bee (1) Tod%iCe, Bee
(2) Bee, To (2 Bec To

(3)  Ccand Bee, To @) Ceca4l Bee, To

(4)  Toand Bee, Ce 4y ToddiBee, Cc

e 48. PreofafmmiasmafizmaisEr T2
i 1ch of the following is not a t f 5 3

printer ? A (1) EeERg @ EEE

(1)  Landscape (2) Laserjet @ TR @ 3=
3 Inlkg

(3  Inkjet @ 34 e

49. Choose the best option : fFm = e?
An antivirus program is designed to Ly feaEs %1 &9 1 99 T I
computer virus. T 9 39 22

(1)  scandevice, identify and eliminate @ fearg =1 &5 =3 99 F IS =

(2)  scandevice and eliminate T

@ identify and eliminate @) mi‘garsqaﬁ T FT U1 HE T H

(4)  scan device and identify

@ oo =1 &= FA I HHL AR H
e H
50. Hitting key and _.—dwg}
. g:n a dialogue box for searching a word in p 50. mm o S ey
Ml T 8 ¥ W % fore sreti wta e
- _(1). C_f"_’l’ S sy ' | (1) Ctrl, S @ Alt,F
@ AlLS @ o Cal R o @ A4S @ CtlF
Lsaseh
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51.

62.

53.

o
@

 PART - I1 / 91 - 11
i (4) Pedagogy / foramomes
Antinerant teacher is one who is -

(1)~ qualified to offer special services in
different inclusive /in tegrated schools

@ expert in a number of curricular

&)

areas

a special teacher appointed for a
particular inclusive school

(B  aspecial teacher ap

pointed temporarily
on ad hoc basig .

The term ‘Grape-vine communication’ refers
to:

(1)  formal communication

(2)  informal communication

(3) advertisement and publicity

(4)  selective perception

Identify the statements that are consistent with
the social model of disability :

(@ Impairments should be fixed by medical
or other treatments.

(b)  Disability is caused by the way society is
organized.

(c) Impairment 1s the focus of attention.

(d  The children are valued in their own

right.
(1) (b)and(d) (2) (a)and(c)
(3)  (a)and(d) @) (), (c)and (d)

A child who reads “dog” as “god” or “bat” as

 “tab” suffers from which type of disability ?

(1) dyspraxia

(2)  dyslexia
dysgraphia
~dysphasia

b1, U FEEIA HAF 9% dren & o
< % fere Fraar e @)
2) % TrSHshy Haf &5 o frqmen
@ U v o e F fou S
T fodm seame |
(4) sreaEd a1 aed sy W s v favm
FEATT |
52. ' Ivergd "Y' U F1 Y ¥
(1) i gy
@ ST 90
@) fagma s v=m
(4 =IHd Iy
53. TH.veRal & WIS Hisd % SFTEY FUA F
T :
@@ =fa = fafe o o= sTarl | 9t
ST @ Med |
b)) F:3Edm 99 & oaftg 3R % 90% 9
Ex e nid
(© «fa eam wim ot 2
d == A 3 W E TRl g 1
OB OENC) ® (@R E
@ (a) 3 () @ ), I
54. W A& S “dog” T “god” A “bat” i “tab”

Teal &, frefates 8 4 fra yer o oy 9
ifga €2

Q) - SEe (femdfen)
W)  arEA-dwed (fegmfasan)
@) oEA-dwed (femmfrm)
(4) W - e (femisfern)
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@& : mmﬁ participation of maxim um
@ Basy tohandle

s m»m by plus cureiculum for special
- --mm »

@ C:‘wm&um on skill areas which are
'---..mﬁﬁet&mmdﬁﬁculm of CWSN

¢ W curriculam for education of
& &&m with qm&l needs (CWSN)

57.

"(1:) Vﬁﬁm@i Hﬁmmm

@ forened] a1 ek g 1 ‘Eﬁmm_
(p  Fosell i srves el of 21 o gy

@ mwmmqmwﬁﬁm ko

ush et foagor weres e ) SitEr fadm
w2

(1)  wW

@)

ifeera st w5 vied 0.
(4) e § e

oy smayasa el e o foe e geTsE
o 7 o1 # 7

()  fooiy savgsar 9@ s & foau sifaftem
qISTshH |

A e A 9 snefia wremEn S fag 61
ST 1 ATk o1 fordie ol &
wfa ferfre &)

@ fodw smavEsa T e % foe
wmﬁamws :

@) TN ey 9 S o s sua
Wiy fowa-awq |

@

| 8. mmmm%

-a:r m'émﬁ
fm mmﬁ i

iy
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69.

60.

61.

62‘

-

e
o (I?;i::i‘::::ea exchange of ideas, facts and
()  [tisacontinuous process

(@  Itisboth verbal and non-verbal

@ Itis synchronous in nature

(1) (a),(b)and(d)

@  (b),(c) and (d)

@ (a),(c)and (d)

@ (a),(b)and (c)
gﬁ:lzrzigﬁzggllowing plans may be least
(1)  Instructional plan

(2 Unitplan

(8) Lessonplan

4) Activity plan
Hearing impaired children exhibit :

(1)  Dbarriers in communication by language
2 barriers in moving around

(3)  barriers in individuals self-care skills
(4)  barrers in tactile skills

In curricular construction, the act of dividing
content as per the class levels will come

69.

60.

61.

under :
(1)  Selection of content
@  Gradation of content
Organisation of content
' Classiﬁ_cation_of content

62.

Fretfafas 1 8 S @ e
% it s =t wfkfes o

(@ zud faurl, 9=l aw UH W ARE-NRH
et 31

() T U Tad R R

© %Wﬁnﬂz—w,aﬁwm
B )

@ TEIHaH s A e

@ (@, b)HR@

@ ), © M@

@ (@ ©3M@

@~ (@, 03N

ﬁﬂiﬁﬁﬂaﬁﬁﬁﬂxﬁmw@wmsﬁ
Hga #?

@y IR A

@ g A

@ WSS

@) fwEmasE

g sfea (SfER) HoTh WEd S ¥

(y T RO W

@ g-fed | e

&) mﬁﬁﬁﬁﬁaﬂ%{@mﬁwﬁmaﬁm
T S

(4) T e H S

Wﬁﬁ,mm%wﬂﬁma@ﬂ
ﬁmﬁﬂm@mmmmm%’?

q foma-agHaI™
oy faE-sgw Puicaul
@)
@)
Y-13
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) “_ The concept of curnculum development

_ emludes

S i () International considerations
g (z) . Fmﬁyaspkaﬁons

® Seceulpal

o Nassiadfonls

65. Far conducting physics experiments, a science
~ laboratory should necessarily have::

C!) ' Gasmnnecnon

Anﬂgb;h;y ﬂof natural light and
-"-?mnﬂlsnon \

6. e vl & v @ B ey

@ wgfem
@ Tavswiam
@ fafvam

64 Vs fomuSidsTmisTREIED

1 sueE EER
Oy RaRH snwiad
@ S s

@ TEEEa

65. Sifa= = v =3 ¥ foe v fasm warmen §
A w9 | 59 o e ?

(OO L

@ va-FFr voet

@ wiEles Jerh iR e w SvesE
@ TEAN

| o6 Frfian 3 v Sve v R @

(i) ﬂmﬁmﬁ%w.mi '
@ WW%WW@ﬁW%
_gr M‘ﬂiﬁl Waﬁtaﬁmﬂﬁm

;} ma@ﬁmﬁamwm
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; (1) Six C's and three 8's
2  Eight Cs and four 8¢
. (@ Seven Cs and four S's
il (4  Seven C’s and three S's

68.

69.

LA

" her/his communication by

LoE -_gé'j-ven alternative holds true 2

A science teac

t s sugpested that a teacher can im
following e

S s and "hi :
C Which of the below

S's.

The phenomenon in telecommunication and

mﬂ?edlia industry to integrate services, content
offerings and means of communication under
one core technology is termed as -

(1)  Multi-media

(2)  On-line communication
(3) Convergence

(4) Integrated media

Which of the following is not true about M.R.
children ?

(1)  They lack in ability to generalize
(2)  They feel difficulty in abstraction
(3)  They are poor in comm unication ability
(4) They can understand cause-effect

relationship

her has joined a rural school at

the beginning of the academic session. Which
of the following tests he should use ?
()  Situational test
ﬁiagnostic test
~ Achievement test

67.

68,

69.

4)  Inbasket test

70.

IS o :

o fawes v 32

@ WWCHERTIS
2 FRCIATIAXS
@ "AC SAREs
@ waC#EdASs

SR Far % Tl B o g W ¥ et

= F wET R I Fe €
(1) wEe-HitEa

(2)  FA-TEA T
(3) s

@ Eonfez difem

vig-afg @l % dad H 7 | A W FE
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| 74a

75.

76.

i,

o

%

Which of the following i not an ele
computer system ? an element of | 74, f4m 8 | W3- de, VLT JITE] 1 e @ 7
]. oLy % fi
® Internet gtk 1) e @  vrédu
3)  Softwar )
(3) Software @ People (3) Giweau (4) M
gfﬁ?iﬁfjﬁﬁi“ﬁ“ goods worth¥ 10.000to | 70 a‘m DR IER T R 10,000 %1 #ien
A T 3 them defective, Which vy ) AT fa | gen fere wsi g -
AL 8 € prepared by Rajesh for the o S fe s ?
(1)  Debit Note Q AR
(& Credit Note @ SEAR
3)  Invoice @
(4)  Cash Memo of 10,000 ) 10,000 1 g T
Which one is not the purpose (objective) of 76. famfafad | fata 4 Al & faveraor &1
analysis of financial statements ? U YA (FRY) T (&
(1)  to assess the current profitability and (1) o R A ST AU FEIEA S
operational efficiency of tbe firm 1 ST
(2) :S;., jclllglbgte the ability of the firm tq repay ) el 3T T—jﬂﬁﬁ'ﬂ VT ] ST
CaGll
@~ to show financial position through i
balance sheet and profitability through (3 g9 5 et feafa aar anv-wfs @
profit & loss account B ST g
@)  toidentify the reasons for ghange in the @ T eyt feegfir o wfead #
profitability / financial position of the firm 5
Shree Limited pregeaiets T}?ac:i}:ﬁarfl?; 77, 4t fafees A 40,00,000 F UH it @i,
5% 1 an 7 >
S P?’éafﬁ 2 iiir?&cc?f 2400 each at ForaT VAT 26% e e T A w A
e 1 (] e 3 3 s
zj;giﬂlif;eo? 90%. How many debentures are 3 400 Tl AN 8% FOTTA 20% feem 1l
L S & o - n- ?
issued to vendor? fan | skl ) fprerat 0T Y f 1T
. ‘w/ 6.250 (2) 6,600 b ]’%,5 (1) 6,260 (2) 6,500
@ 6750 (#) 7000, 4B 1;% @ 6750 i .
i 4 Wmf 17
e 15 -
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: :-’The ‘md’““f}’ which combines various
h mdmasmm:amwpmduamkmwnas

(1)  Analytical industry
{2)  Synthetical mndustry
3  Proceseing industry

Which one is correct ?
(1)  Personality never changes.

r~ Openness to experience is a personality
dimension that characterises someone in
terms of imagination, sensitivity and
cm w‘ 1 ’ -

(3)  Personality is the sum total of ways in
which an individual reacts to others but
does not interact with others.

(4) The fit between personality type and
occupational environment does not

determine turnover.

ﬂﬂ. Anil endorsed a bill for ¥ 10.000 in favour of

Chinki. This bill was drawn on Byender. On

the due date, the bill was honoured by Byjender.

~ On due date, which account will be debited by
Bijender in his books ?

;BiﬂsPayable Account.

ai!m e t
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i 31-,. The first

Stock Exchange i !
s xchange in Agia was set-up in

- Jokyo @  Sh anghai
©) Beijing @ Mumbai
. 4,007
Opening stock 86,000 _’Eﬁl{vf/’
Purchases 3,07.000 b wqot;
W W
S hEe St
Interestonloan 28,000
Closing stock 90,000
Cost of goods sold will be
(1)  T4,00,000 @  23,00,000
(3) < 3,20,000 _(5)’ ¥ 3,560,000
83. Dividend is usually paidon:

@

Issued Capital

2y  Paid-up Capital

(6)
@

Called-up Capital

Authorised Capital

Group of instructions that directs computer is

known as :
(@) Data

® Memory

(2  Storage

@/ Program

81.

82.

83.

uferan W gan v Pt 1aqs 0 wartter Ge v
91 : j

M e @ et
@  #ifsin o (4y - wrah
7
grifus efaan #5,000
R 3,07,000
gl 48,000
01 T AT 28,000
sifqw Tefam 90,000
WM AR B AT BT
1)  Z4,00,000 @)  Z3,00,000
@) %3,20,000 4) 7 3.,50,000

ST 1 g e e

q Frifaa It w

@ wEE

@  =fEa It W

() e O W

SR 1 T, e i ey & 8, He
¥

O =& @ e

® = ot
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87.

2 Simple Query
()| Parametes Query

St S-ummanr QUEI’V

ofX 100 each (Z g

be transferred to Capital Reserve will be :

1) 750 @ T2.250

B 6,750 @ 3,000

An aggrieved consumer can lodge a complaint

to ‘State Consumer Commission’, if the value
of goods or services in question, alongwith
compensation ;

(I) ismore than¥ 1 Crore
(@  1s more than T 20 lakhs but does not
exceed T 2 crore
(3)  1sless than T 20 lakhs

| 18 more than T 20 lakhs but does not
exceed T 1 crore

Dinesh Software Limited forfeited 200 shares
: * 60 called up) issued at par to
Kareena on which she had paid ¥ 20 per share.
Out of these, 150 shares were re-1ssued to Rajni
for T 45 per share as ¥ 60 paid up. Amount to

85.

817.

¥ o wHR 9 § S0 ST R w5 oy,
FTHERE &2

(S VR
@ MR Y=
@  HEErT
@)  HhNgEst

fedrer wifrearR fafiee 3% 100 T (% 60 11y,
AR 200 39 5 AT 6 SR FHC T G, Fg
e % 20 Wi Y YA B TE G, T
398 8 160 39 TS B 45 94 39 H, 2 60 vy
oR gu, YA o gSh S § et
S areft afyn e

(1) Z750 @ 22,250

@) 6,750 “4) 3,000

U STHG ST * T2 SR @i 4 forirg
T A Tl B, Afz 3w W 6 wheyfd wfim
SRSl Sreren el 1 ey -

M R1F2 A sfys g

@ R 207 A sifereh 8 i 2 o v @ s

(3) X 20 9@ § %y 8
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g, Which one i trae

iag (ﬁ - Avcounting i a social Helenes.
@ Economic life

artificinlly splitinto periodic interyals in

| accordance with :
S0 Assuniption,

Al it . el

: w ]huwfuem:umuhmmlwd A8 CUErEL pamets
and fixed aswets in nacordance with
Accounting Peviod Aggum ption,

W

Reyenue 16 gemerally vecognised at the
point pf sale in accordance with the
matching principle,

A machine was purchased on April 1, 2017 for
T 10,00,000 and on October 1, 2017, a new
‘machine was added for 2 4,00,000. Calculate
the balance of ‘Machine Account’ as on
March 31, 2018, if depreciation is charged
@ 20% p.a. on Diminishing Balance method.

(1) T11,20,000 2) %13,20,000

(3) ¥ 11,60,000 (4) T12,00,000
90. Analysis of comparative financial statements |

o include :

(1)  Common Size Statements

(2" CashFlow Analysis

(@  Trend Analysis

4) ' Horizontal Analysis
% .’W'h"'ich B PR characteristic  of
s -W{ormgﬁonal leaders?

(i tention, treats each
Gives personal at : :
 employee individually, coaches, advises,

5 Intervenesonly if standards are not met.

% 1ﬁ- wmmg i t@k& on hlﬁh persoﬂﬂl riﬁk_'

of an anterprise is

the Going Concern |

HH,

890

91‘

Prrenforfuasy # & ot o wly 7

(y et v oyt s &

@ e v A Fom w8 e, e
YT % e wEam w B At e
# fapforn farm e % :

@ o Ay i e A % A
mwﬁwﬁtwmﬁ#ﬁ#ﬁmﬁm
war ¥

(4) mmmmﬁwasm
hwéﬁmmmm#{m%a

1 &0 2017 #12 10,00,000 %1 vzr»mfﬁ@‘r’r
w1 AFAT 2017 %1 T 4,00,000 LR
ot i) A | #fz % 7m Al 38 20% 33
mwﬁﬂm“mfn 41 A 2018 B 'T9A
A’ % T

(1y T11,20,000 2 T13,20,000

@ %11,60,000 @ T12,00,000
fordia faail % Paverm & wffem % -

1y FwE faE

(2 e vATE A

@ wfafaem

@ e e .

P A AR g 1 ferire -
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92 Whichone is not a role of public sector ?

(i) Development of infrastructure

'@ Development of profit earning capabilitiee

(3)  Checking over-concentration of economic
power
(4)  Expanding exports of the country

Which one is true ?

(1)  Management does not satisfy all the
requirements of a profession

(2) Management is considéred a two-tier
activity
78 Planning can prevent problems

(4 Organising function examines the
activities and resources required to
formulate the plan

‘It is a market where low risk, unsecured and
short-term debt instruments, that are highly
liquid, are issued and actively traded everyday.’
This market 1s known as :

(1)  Primary Market
(2)  Secondary Market
Money Market

(4) Capital Market

An i.nitiétive launched by the Government of

India on September 25, 2014 with the major

objectives of ‘Job Creation’ and ‘Skill
Enhancement’ in 25 sectors of the economy.

- What is the name of that initiative ?

o w Ujjwala Yojana

G 3 @ . 0ne Nation-One Tax

3) Makemlndm

92.

= Ea #WW?W@@;
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2 T EREEE weE % e
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et d e sR =l 27
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101,
i

(1)

@
102,
)
@

@

- Voushes prepured for the deamapsion With
tigle dabits nrd iviltiple seadits fa ks

Cornpley Venikioy
Diehit Vouseksy
Credit Vouchey

Compound Voucher

The ‘Reserve Bank of India’ wag satablivhed

1934 &1 1935

1956 4) 1947

Which one is correct ?

Any amount of funds can be generated
through trade credit. :

Factoring does not create any charge on
the assets of the firm . '

Rate of interest offered on public deposits
are usually lower than that offered on
bank deposits,

Convertible debentures can be converted
before the expiry of a specified period,

1 Yon. < Gaah collesteifeotn Debtiswonit e dasted

194

101,

102,

103,

Li s 5.

TR
HPHH i
R

i)
4
) e

o) A

Pttt i S’ 4 foipiit gd o)

()

@)

1944 o s H

1o H ) 1A

EER S EOERTET R ¥

()

(2)

@)

)

St gt 3 v 4 fafull 4 -t
#) werafin w1 apsr i o e § |

mpefin) foasel) el #0) cperforsil e fogred) s
A1 4o 1 e

ekt s wify e B Sifh o e o)
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\_ LWiHich one s
._'101"_ [‘:zljts 9 T " e,

i . uUsinegg
i Political disturh

anceg J;
exchange rate 8 like flucty ation in

Uncertaint :
Y relatin !
from customere B o collection of dues

(3  Stoppage of work due to power fail
ure

@)  Heavy rains

" 106, Which Ing i
106 one of the following is not correct ?
G >9)/ Partnership is the relation between
e persons who have agreed to share the

profits of the business carried
onb
one of them. iag

The partners bear the risks involved in
running a business as a team.

Nt g

(3)  Apartnership firm is not legally required
to publish its accounts.

(4)  According to section 464 of the companies
Act, 2013, maximum number of partners
in a partnership firm can be 100.

106, Which one is correct ?

Trade credit 1s a cost-free source of
finance. :

Trade credit involves implicit cogt.

. )
cease in the firms

o i :
i can dit decreases if other

~ purchases, trade cre
~ things remains the same.

Y Increase in deferred income gedudesthe

firm's liquidity:

104.

105.

106.

frfafaa & & ®F =Emm Sfag a1 aeey
FRI R ?

(1  usrfas smrifa a f&fmm @ q e
e

@ e @ @k & Fgen qad siffyam
@) fasreft & 76 & TA F T EHH H FH

(4) 9w

fyAferfas | | & 91 98 T &7

() e At & 9 gEy € R
=78 & fordt U g 9 ST 9161 SAa 9

%Wﬂﬁfzﬁnéﬁl‘%mmﬁmm’ﬁl

@ oY W UE O & ®9H = | 6
ShifEs 1 HEER 761 F@ €1

@ T GERN FHE &) SO T Sl g
FT1 dunfaea; arufem 76 8

(4) S TR, 2013 F URI 464 F HIOK,
TR # wEer %1 sifbeshad §E@ 1009
e

A d AP E?
() o SuR fae 1 - i
@ =i MR sffea @ ¢

@ w % w8 gfe € § s A
¥t Bt 2, Afe @ afEfid

@ o o A o @7 A w1
(Fferfedt) & w4 &l &1
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“%C%I.Of.' the following s not a benefit of
e-Businegg ?

() Customer Satisfaction
&)  Convenience
Personal touch

#)  Global reach

116. Job costing is :
(1)  Highly repetitive

(@  Applied when the material and labour
cost can be identified by order number

(3) Notappliedin plants making specialised
industrial equipments

Gé)/ Applied where at different sites large-
scale contracts are carried out '

117. Which one of the following statements is
true ?

B There is no separate law that governs
sole proprietorship. :

(2)  The owner of a sole proprietorsﬁjp has
limited liability.

(® Joint Hindu Family Business is
controlled by all adult members of the

family.

(4 The liability of all members of Joint
_ Hindu Family Business is unlimited.

115,

116,

117.

g 9 Q- s e - w
(H e wyfte
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11& Which one is n

4 ot [
. Accounting ? khe

Pirpose of Coay
(1 product decisiong

- A®) ascertain the g
: inanci e
business ancial position of

®)  operational Planning ang control

%  makin | 181
s § Special decision about ‘make or

119. Which one is correct, in

ShnEa 9 modern marketing

(1) ‘Market' refers to the place where buyers
and sellers gather to enter into
transactions.

/&T ‘Market’ refers to a set of actual and
potential buyers of a product or service.

(8) Marketing is same as ‘shopping’.

(4) Marketing is only a post-production
activity.

Which one is not a feature of global
enterprises ?

: (1) Huge capital resources
(2 Advanced technology

. P.roduct innovation

o Responsibility for creating regional

(1)

(2)

&)}

)

n

@)

3

)

M

3)

@

._ 118, W9 ¥ ST T # kv A 37

Feqrz Famig
wyam %1 fasirg feafa = oo =
varer frra vd

‘e e & an H fam et A

119, Frefafad # & s farom F @ % e F
FHTHE €7

‘AR 1 3w T R Al A el
-39 F g s 9 2

TR F gl R TR I TS
£4
faqorm 3R ‘i’ T E

U FEe TF 39 IR AN 2

120, AREF TR 1 S 9 S oSS TR 8

e
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Advertiing strntegy i wor concered |

WAR s locting Adver g Wed.
Marketing Min does ot aonsider Prive’

Market mrenns the phace wihere goods and
ROTVIOOE ave #old and wmhml

122 Wihich one is a fanction of tost acvonntang ?

@

@

@

or loss eﬁh& business as a whole

To provide ifornation about the wait ';'
costs and profits / losses of different |

product lines

To record the value of plant and

machinery

To provide information about economie |

resources and obligations of a business

: : m 'Imemd Expenditure Amt‘hmm
- ‘by'Not-ibr-Pmm Omninhm‘ow e

®

--_.-'I_'._'-.qﬂi&ﬁﬂ%% S
SR W‘ WQWM%M L

Wmm“‘w*wa
m. mmwﬁia
| (ﬂ) o T NN TR ) P g

ot we o R s e W R

| R e e P e

zn s W @ Qs an

B To provide information about the profit 5—' SN S R ) g

v e Y @) gl ol aw
W e
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'm % m W ae i) @
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ﬂ% The portion of the capity
only at the time of m‘;ci;rl\;

-js known as up of the company

Subscribed capital
Reserve capital

Nominal capital

125. A decision toissue new Debentures is:

{0 : Capital Budgeting Decision
(2)  Operating Decision

{3 Financing Decision
@ Investing Decision
126. Which one is false ?

Sub-fields of accounting are book-keeping,
financial accounting and management

accounting.

(2) There exists a wide gulf between
accounting and economics.

(3) Accounting  means recording
transactions and events, not their
interpretation.

(4) Materiality Principle is an exception to

the Full Disclosure Principle.

Which one 1s true ?

Accounting inve

of business transactions.

~ Atransaction wh1Ch mcreasea the capital
' m called Income '

human regource ig shown

 The value of
nce sheet.

I ~asan agsetin the bﬂlﬂ

: Aacounnng 18 a aemoe funcuon

hich can be called |

Jves only the yecording

134

120,

126.

127.
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128. The Actual name of World Bank is :

(1) International Bank

(2): 0 oF nternational Banl for Regulation and
Development,

(3)  International Bank for Development

A

International] Bank for Reconstruction
and Development

129. Which one is true ?

(@) Einancial statements reflect current
situation.

(2)  Assetsshownin the balance sheet reflect
expired cost.

(3)  Balance sheets disclose information
relating to loss of markets.

Financial statements do not contain
qualitative information.

W@

130. Which of the following is a not a limitation of
computer system ?

- (1)  Lack of Decision making
. (@  Lackof spegd

(3)  Lack of commonsense

9 ZerolQ

Meena draws a bill on Parveen on
August 29, 2018 for 1 month. The due date of

the bill will be :

131,

(1)  October 1, 2018
42 October 2, 2018

(3 | Sepiember 29,2018

(4  October 3,2018

128‘

129.

130.

131.

oy 5 1 A T E

) S A

g Froprr e ForeTE 2 SRR S

o for g A o

@ AR e ds

frfefas § @ F1 9 HE &7

) faeia faeor s feaf 1 af ¥
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!!; ..M'ljl.';h of tha flien
o Responsibiligy uf |.%:V
. 4

Y ngg )
" 1

WL Rt gl » fid ‘ﬂ";z’

| Wi
{1 l"'”r“'”“'”“-" ”":lsg il
. SRR :rll”l\
. v
() Diseye
REYet Oy ”_t_'g[,“”““ |
1 ||_.y
(,l) ."J‘.I"fflll H.iltilj;u“;“h” {
| iy
A Keonomie

143,

. '1840

185

@)

Hl-l':pﬂl'li‘.ililh' y

Which of the {ey

How
YWINg o )
inthe contrnet K principle iy np

0f 1if INMUranes 9

plicable
AT

Insurable Intepon

()

Subrogation

3

Indemnity

Contrnbution

Cattle breeding farms, poultry farms and figh
hatchery come under which type of
industries ?

(1)

Extractive industries

(2)

Secondary industries
3 Geneticindustries

Processing industries

)

Which one is a strategic HR initiative for
managing shortages ?

. (1) Reduce outsourced work
(@ Employee training
| @ Switchto variable pay plan

(4) ' Subcontract work to another company

182, Drog O i arpmenn W seef o setarfae’ iy
el 87

(1) e ot

(y  fadmnivy gucsfon
(y Wi warfen
4y i e

198, e e % s # P A - g
o o %7
(y e 7 fea
2 s wedm
@ afeefd
(4 A
184, TY-TER T, - SN a9 HeE e
Feim o yn % w23 €7
a Frein M
@ T zam
@ WE@W
@ wiEEm M
135, FiFdl % WA 3 WA AR F OEIGE T8

FA-H %7

(1) IEEEEa FE F 9T

@  FE=E = A

@ I A A

@ ah e e s

Y-33

Scanned by CamSCéhﬁéf




137.

138.

. Which of the following is not a function of

' Financial Market ?

' ,ﬂ( Facilitating Housing Loan

@  Faclitating Price Discovery

(3  Providing Liquidity to Financial Assets

(490  Reducing the cost of Transactions

Which one of the following relates to trait
theories of leadership ?

Specific behaviours differentiate leaders
from nonleaders.

D

Employee-oriented leader takes a
personal interest in employees’ needs.

ol

The theory provides a set of rules to

3
determine the form and amount of
decision making in different situations.
(4)  Theory that considers personal qualities

and characteristics.

Which of the following is not a characteristic
of Management ?

(1) Managementis all pervassive.
Management is multidimentional.

()]

,_@)/ Management is a tangible force.

(9 Management is a group activity.
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Receiving ¢},
E the Paymeng for gale of good
8,
Receivy
ng the Paymen before due date

Making Payment, fo, Purchage of good
oods,

~ Which of the following me

portable and inexpengiy
- limitations in termg of
speed ?

dium iy universal,
Ve, but has itg own
storage capacity and

Optical Digk
Hard Disk
Floppy Disk

RAM.

141, A T 3 2 10 WEE 919 450 39, S T
] St farn & a1 fs@ T T 8
g S : 0 hresoleo m%mm \
/Garden Limited forfe_“u;ffg lse;h on which (siferm wfee) wfaa fom o1 9% 4 w6
G i d at a preml '
i m;:fdiig piemium) was called and X 6 (shfierm wfed) YT fﬁ{ iy R
G jum) was paid. 350 of these =7 @ 350 39 T 8 Wf Y WRT WA gY T 7 WA
(including prem! ued for T 7each as?Spland i o PSR PR
inglab re-l::: ghall be credited to Capital a:fq'[ﬁ;a;'i"m : feparef
~up. What amou Y T S
T @ 11400 ) 1300 @ 21,400
. ¥1,800 ' i |
A e s @ 1,500 @ %1600
@ %1600 R o ey

139, A e mmmmm% 3

M mtﬁm{m'. '

@ WIE % e AT W 8
® ¥ fa gl e A
(4) W o A A e

frrerferfiam # @ T Mo WHAE, G
mmtq@mmamnﬁ%mﬁﬁ
o e e ¥

140,

) sifese fown
@ e e

@ e few
@ W

o' mhia

e S e R el S R
Scanned by CamScanner




ﬂﬂﬁq-mwuﬁ?J*

242 Which one 1 a true statement ? 142. frefafad s .
S 2 Feafur1 ARl 1 STy
@ A group of firms in an industry following (1 feedt " :;q_g‘gﬁ?ﬂ‘ﬁ HYE Hem '
different strategies is called strategic areft iy _
group. : : T
ﬁﬂ"{"i '{iﬂa’i%’avﬂﬂawm“l P
2 1
 Strategic planning is the process of e a;aﬁagﬁﬂ‘l"f?ﬁ‘ (ﬁFZ) faiha
J%/ developing and maintaining a strategic ekl ofsa & '
fit between the organisation’s goals and
capabilities, . o
gﬁaﬁ o JHT d% A gafer T 3
(3 Marketing strategies cannot become gl |
outdated for a long period.
. 5 — a7 -2rg SATEiaal 8 37 |

“4 Strategic planning involves developmg a Eﬁ*‘ fasfad Ll ExGifl
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148. “Asthe firms that outsource seek to lower their § ufem 4 FEA i T FH-ATT et T |

coste, they try to get maximum benefit from <7 = A = E ]
the low-cost manpower of the host countries.” ufem | s o4 il §'® .
Which concern of outsourcing does this FHYF ARG ¥ forg GUFR ! IR FT
statement signify ? 22

(1)  Confidentiality 1)) Tro=Taam

%~ Sweat-shopping @ dftsm Eled

(3  Resentmentin the home countries ) -qgaqﬁ o faity

(4)  Ethical concerns @ s TER

144, The charter of a company is its : 144, FURFEARIETAH |

(1)  Statementin lieu of prospectus (1)  TEE gfEe g
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148, Capital structure of a company related with :

(1

Shareholders’ Funds

L@/ Long term Debts, Preference Share

3

4)

Capital and Equity Capital
Debentures and Loans

Total Assets less liabilities

149. A company purchased assets of ¥ 10,00,000
and issued 10% debentures of T 8,00,000 to the
vendors as consideration, While recording the
above transaction in Journal, the balance of
¥ 2,00,000 will be credited to

e

@

&)
N

Goodwill A/e
Profit & loss A/c
General Reserve

Capital Reserve

150. Downward communication is not used to:

ey

Explain policies and procedures

(2”7 Provide feedback about the progress

)

toward goals

Point out problems that need attention

(4)  Assign goals
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